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1. MLME] 20218 & XHaHEH(101,962,52581), SAHSH( 0 @), R=ZU (101,962,558 )02
20208 2 2T} 37,265,0508 =},
MSFAE &g
a= 202144 20201 =2
| KHatE D 101,962,525 64,697,475 37,265,050
ELT, 101,359,825 62,726, 135 38,633,690
P EE 590,500 1,966,310 | - 1,375,810
EELE 12,200 5,030 7,170
IEXEY - - -
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R E 62,726,135 33,064,491
2 €|+l 335,911,814 367,876,378 | - 31,964,564
1) Jlg249 247,849,674 264,017,304 | - 16,167,630
2) Abgi4gl 80,820,563 91,664,360 | - 10,843,797
3) Abelel4el 6,582,677 10,648,554 | - 4,065,877
4) K& T2l 658,900 1,546,160 | - 887,260
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E
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Ol = MolE 2| N & 20,000,000 |a&t2 12,000,000
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E=MoBA YUAIASD ONLEE 30 B2A8 =AU
* 2021 &S OIX HSo 1,624,7398)
2) AYNSBHE I8 BHAISSEL T20| 23 A
20198 2AMETIAEOI ZESIOL Q1M MBI BAGIA 20t ZAUNA M
[23712F 2007.6.21. 2E 20198 2 T 54,018,224, 2021 2 Fod54 109,3438 |
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